Goal 5.01

Identify the following reactions by type.
1. Ni(s) + Cl2(g)  NiCl2(s)
2. 2Sc(s) + 3SnCl2(aq)  2ScCl3(aq) + 3Sn(s)
3. NaNO3(aq) + HCl(aq)  NaCl(aq) + HNO3(aq)
4. Na2CO3(s)  Na2O(s) + CO2(g)

5. 3Zn(s) + 2Mn(NO3)3  2Mn(s) + 3Zn(NO3)2(aq)
6. HCl(aq) + NaOH(aq) → NaCl(aq) + H2O(l)
7. CH4 + 2O2 → CO2 + 2H2O
8. Cl2O3(g) + H2O(l)  2HClO2(aq)
9. 2K3PO4(aq) + 3CaCl2(aq)  Ca3(PO4)2(s) + 6KCl(aq)
Explain how to use the activity series. (Both halogens and metals, based on order of metals & using the arrows)

What type or reaction is an acid-base neutralization?

What 2 things are always produced during neutralization?

Which of the 8 reactions above is an acid-base neutralization?

What 2 things are always formed during combustion?

Looking only at the reactants side, how can you recognize a combustion reaction?

Goal 5.02

Balance the equations.  Then, write the complete ionic and then the net ionic equation for each of the following:
1. _____ Zn (s) + _____ AgNO3 (aq) (_____ Zn(NO3)2 (aq) + _____ Ag (s)

Complete:

Net:

2. _____ NaCl (aq) + _____ AgC2H3O2 (aq) (_____ NaC2H3O2 (aq) + _____ AgCl (s)

Complete:

Net:

Harder one.  Aqueous solutions of barium chloride and sodium sulfate react to form a barium sulfate precipitate.  Write the complete and net ionic equation.  (HINT:  You guys messed this up on the CRT.  Write out the reactants and predict the products.  The problem only tells you about the precipitate that forms, but the others ions form something as well (that stays aqueous!)

Chemical Equation:
Complete:

Net:
Predicting Products:
Single Replacement:  (No Reaction is Possible!)

Br2 + NaI ->

Br2 + NaCl ->

CaCl2 + Zn ->

Zn + PbO ->

Ba + H2O(g) ->

Ag + H2SO4 ->

Double Replacement:

NaCl + MgI2 ->

Ca3PO4 + Al(OH)3 ->

Other:

KClO3 ->

LiHCO3 ->

KOH ->

Equilibrium:

Explain how each of the following would affect the chemical equilibrium of the following reaction:   C(s) + H2O(g) + heat <--> CO(g) + H2(g)

a. removing hydrogen
b. adding water vapor
c. lowering the temperature
d. increasing the pressure
e. decreasing the pressure
The reaction N2(g) + 3H2(g) <--> 2NH3(g) produces the fertilizer ammonia. At equilibrium, a 1L flask contains 0.15 mol H2, 0.25 mol N2, and 0.10 mol NH3. Write the expression and calculate the Keq for this reaction. Then tell if reactants or products are favored at equilibrium.
